asym_atll

asym_atrl

asym_atl2

asym_atr2

runs3800 000 r

15000 — 15000 -7t
- —|700 -
10000 10000 | —eot
- —g0C -
5000 5000
o o
5000 5000
= an L
C m B
10000 10000
C 200 C
- N -
15000 15000
. N 100 . 100
20000 20000 - -
_III|III|III|III|III|III|III|III|III|III D _III|III|III|III|III|III ﬂ
-100 -B0 -B0 -40 -20 O 20 40 60 80 100 &0 40 20 ) 20 40 &0
diff_bpmXum diff_bpmdaYium
diff _ diff_bpmdaY
I
10000 10000
—l&0c
—50¢
5000 5000 —ep
—anc
0 a0t 0
~5000 20( ~5000
100
10000 10000
_I L1 | L 11 | L 11 | L1l | L1l | L 11 | L1l I L1l | L1 | L1l D _I | | | | | | | | | | | 1 1 | | | | | | | | | {'
100 -B0 -BO -40 -20 O 20 40 60 8O0 100 &0 40 20 ) 20 40 &0
difi _bpm1Xum difi_bpmda¥ium
l ! ™ ff
: —8or —70t
20000 —|B0L 20000
. —l&0C
[ —|70¢
10000 10000 —{50c
L .
II:F_— 1]
10000 [~ 300 10000
[ 200
20000 20000
Rlay™ 106
. 100
30000 Do b b b b b b b b L o apoon L1 | R T N N N A N M I O O A N B B 0
100 B0 -B0 -40 -20 O 20 40 60 8O0 100 &0 40 30 ) 20 40 &0
diff_bpm1Xum diff_bpmdaYium
l .
E —12( gﬁlfLE — . B0
40000 40000
- —10r -
30000 30000
20000 20000
10000 10000
o oF
- -
10000 10000
- 400 -
20000 20000
30000 3p00o
- 200 -
40000 40000
- u - u
EDDDnlllllllllllllllll III|III|III|III|II E'D[:Innlllllllllllllllll
100 -B0 -B0 -40 -20 20 40 60 20 20

egsression-asym at

VS

- I -
- " - —{70c
15000 —{700 15000 [~
E E —{&0¢
10000 | —lg0c 10000 |
- - —500
so00 - ™ so00 - ™
- | n
o 0fm
1 - m
-5000 | 5000 |
. B B
C m :
10000 — 10000
- 300 -
- N n
15000 | 15000
- - 100 N | 100
20000 - 20000
_l L1 1 | 1 1 | L1 1 | 1 1 | | I | | L1 1 ﬂ 1 | | | | | | | 1 | | | 1 * | | 1 | | | D
60 _40 _20 ) 20 40 60 _40) _20 0 20 40
difi_bpmdaX/um difi_bpmdaYium
diff diff_bpmdeY
I
—&00 i [
10000 10000 60t
—s0r
—500
5000 5000
—anc
0 0
00
_5000 200 ~5000
10(
10000 10000
_l L1 | | | L1 | 1 L1 | | L1 | 1 L1 | L1 1 ﬂ i | | | | | | | | 1 | | | 1 | | | 1 | | | D
60 _40 _20 ) 20 40 &0 _ 4D _30 ) 20 40
difi_bpmdaX/um difi_bpmdaYi/um
diff diff_bpmdeY
- —80( i m i -
20000 20000
i —70C [
i i —50(
10000 - —g0r 10000 |
[ = [
o b
10000 | 00 10000 |~
- 200 i
20000 [~ 20000 [~ .
[ 100 [
EDDDD-l"'lllllllllllllllll"' 0 MDUU-'lll'lllllllllllllll o
_E0 _40 _30 o 20 40 &0 _4D _30 0 20 40
difi_bpmdaX/um difi_bpmdaYium
diff diff hpméleY
: - —
- | - —{ 00
40000 F 1o 40000 F
apooo 30000 —60C
- —{8oc -
20000 F 20000
o o — 50
~ B [ |
10000 10000 -
o oF
10000 10000 f
- 400 -
20000 20000
30000 :— 20 30000 |-
- - 100
40000 40000
N N u
50000 C ' L1 50000 L o

I>7Z--pos

—E{?

E:‘Ip a n 'p n 2,hﬁm49‘ﬁum

—700

~5000

10000

15000

20000

[ |
1 1 1 | 1111 | 1 1 1 1 | 1 1 11 | 1 1 1 1 | 1 1 1
100 50 0 50 100
diff_bpm12X/um

5000

~5000

10000 .
i L1 1 | L1 11 | L1 11 | L1 11 | L1 1 1 | L1 1 ﬂ
100 50 ) 50 100
diff_bpm12X/um
ijL
- = —14c
- H
20000
i —{12¢
10000 _— —100
ol BOC
10000 [~
20000 [~
20000 FEEE N N N
100 50 ) 50 100
diff_bpm12X/um
-
5 —{16¢
40000
- = —{14c
30000
n —{12¢
20000
10000 — 100
oF
10000 —
20000
30000
40000 =
S-DEIUU :I 11 | L1 11 | | I | | | I | | | I | | 11 1

- 100 -o0 1] 50 100
diff_bpm12X/um



reg_asym_atll

reg_asym_atrl

reg_asym_atl2

reg_asym_atr2

runSSOO_OOO_reﬁ%ﬁSi’ﬁ”ﬁ"‘ﬁ*%g

10000

5000

=5000

10000

15000

=]
IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

-100 -80 -60 -40 -20 O 20 40 60 80 100

diff_bpmXum

5000

=5000

10000

III|III|III|III|III|III|III|III|III|III
-100 -80 -60 40 -20 O 20 40 60 B0 100
difi _bpm1Xum

=2000

=4000

~6000

~8000

'I"'I"'I"'I"'I"'j"'l"'l"'l"'l'

10000

prlvra el |rﬂ| pelvvr bbb
80 -60 40 20 O 20 40 80 B0 100

diff_bpm1Xum
diff _

~
=
=Jm

B I
10000
5000
ﬂ __
5000 " "n
C . n
10000

— 700

100

1]

100

1]

100

o

100

10000

5000

=5000

10000

15000

diff_bpmda¥ium

2000 =

5000 —

diff_bpmda/um

=2000

=4000

~6000

-8000

10000

I N T N N T N NN TN N T I A B A
g0 40 20 1] 20 40 e
difi_bomdaYium

10000

S000

~5000

10000

at

=
IIIIIIIIIIIIIIIIIIIIIIlIII

700

[N

0

15000
10000
5000 |-
o
~5000 |
10000
15000 |
u |
_lll|||||||II|III|III|III ﬂ
60 -40  -20 0 20 40 60
difi_bpm4eX/um
diff
10000 |-
i —{50¢
5000 - lanc
ol 300
I 20(
5000
R 10
10000 |-
-lll|||||||II|III|III|III ﬂ
&0 40 20 0 20 40 60
difi_bpm4eX/um
diff
8000 |- —7oc
6000 [~ —60C
4000
N —20(
2000 |
o
2000 -
4000 [
~6000 |
~B000 [
10000 |
I T I B B A |ﬂ [T N A R T B B 0
60  -40  -20 0 20 40 60

:
E

2000

~5000

diff _bpmdeX/um

400

300

200

100

1.Z-postpan.

10000

5000

=5000

10000

15000

o

—{70C

100

diff_bom4eY/um

diff_bpmdeY

10000 —

5000

= 5000

10000

300

200

100

diff_bpmday/um

= 2000

=4000

= 6000

= 8000

10000

— 700

100

diffi_bpmdaYium

£
18

=
LI I 1T T 1 I 1T T 1 I 1T T 1 I 1T T 1 I LILEL
|

10000

5000

= 5000

10000

=
| L I | L L I | L L I LI I LI I LI

J

—Eﬂ

png B

10000

5000

=5000

10000

15000

==
IIIIIIII|IIII|IIII|IIIIIIIIIIIIIIII

100 50 0 50 100
diff_bpm12X/um

2000 =

5000 —

10000 n

=100 -50 1] 50 100
diff_bpm1 2X/um

"-"1

= 2000

=4000

= 6000

~8000

10000

A T A T T O B B FI I I T A B

=100 -50 1] 50 100

diff_bpm12X/um
diff

10000

S000

~5000

10000

- 100 -o0 1] 50 100
diff_bpm12X/um

300

200

100

100




asym_atll

asym_atrl

asym_atl2

asym_atr2

run5800 000 regression asvm a

diff_bpm1X

%2 / ndf 32.5/34
p0 -12.35 + 14.53 JH }
-
p1 107.4 + 0.9 ﬁ“ﬁ
o
~5000 — {Hmﬂﬁﬂ
10000 _ }}
:l 11 1 1 | 1 1 1 1 | 1 1 1 1 | I I |
=100 =5 0 a0 100

=

_bpmlX

: ¥2 / ndf 31.41/ 34
P PO 2.054 £ 11.070
i p1 -20.81+ 0.68
2000 *
- a ‘| + -
L i
ot ]
u Jr+
i tif }
2000 — -
_MDD —T | | 1 | | 1 | | | | | | 1 | | | 1 I_ |
=100 =50 ] 50 100

diff_bpm1X

%2 / ndf 40/ 34
p0 -13.26 £ 16.75 -
Nﬂ
o1 252.8 + 1.0 ]
SO0
oF
5000 —
10000 - S
15000 :— +++
- iif’rﬂ
20000 |- }
:||||||||||||||||||||
=100 =5 1] 50 100

diff_bpm1X

¥ /ndf  29.03/34
p0 —14.5 + 23.0
p1 4545+ 1.4
10000 —
20000 — +++-,+ o
30000 — } H};}Hi
40000 -

100

diff_bpmdaY

%2/ ndf

69.62 / 34

pO -8.105 = 16.585

p1 91.9+1.8 * )
200y ! = .l }_H |
oF m } M il }
~2000 |- H
~4000 [ 1 )
-6000 [ }
: 1 1 1 | 1 11 I 1 1 1 | 1 1 1 | 1 1 1 | 1 1 1 |
60 40 20 0 20 40 60
diff _bpmdaY
3000 %2 / ndf 41.61/ 34
:mnnf— pO 1.172 £ 11.167
woob | ﬁw p1 2248+ 1.19
F N } M | _
1000 |- H{m «
000 ‘
~3000 |-
B 3
: 1 1 1 | 1 1 1 I 1 1 1 | 1 1 1 | 1 1 1 | 1 1 1 |
60 40 20 0 20 40 60

diff_bpmday

%2 / ndf 142.4 / 34
p0 -12.37 + 23.67 )
1 205 + 2.5 L
P _ +{}H. |
of
—E-DDD:— - H‘]HH.
K
10000 - i
[N T T T T T AN T T N T A O MO OO
-6 =40 =20 (1] 20 40 B0

diff_bpmd4aY

2/ ndf 204.1/ 34
p0 -11.48 + 38.60
p1 366.2 + 4.1
5000 f—

of
~5000 E—
mnnnf— - - H«W
15000 z— H

1 '“"t' “vs ‘diff b

diff_bpmdeX

v2/ndf 2515/ 35
p0  -14.27 + 14.56 M L
p1 166.1 + 1.4 A +
ol
5000 - wwﬁﬁ
ﬂ}DDU-— i.*
_|||||||||||||I|||I||||||||
=B =4 =20 0 20 40 ]

91

4000

3000

2000

1000

1
[ T—

=1000

= 2000

=3000

W

iff bpmdeX

%2/ ndf 39.83 /35

p0 1.124 + 11.042

p1 -33.88 £ 1.06

-60

-4l =20

1] 20 40 60

diff_bpmdeX

%2 / ndf 36.29/ 35
PO —13.47 +17.29 %‘
i
ol 384.7 + 1.6 P
ol
10000 _ M
i H
L
20000 |- -l
VI T T N T T T T N T A T A A A
~B0 =40 =20 1] 20 40 B0

diff_bpmdeX

¥2 / ndf 30.88 / 35
p0 -14.81+ 23.84
p1 697.7/ 2.3

10000 ;—

oF
10000 E—
20000 z— Hﬁ*ﬂ
30000 f— { 1‘H*++
40000 E—I

pm-

1-fit ‘postpan.png

diff_bpmdeY

2 | ndf 69.84 / 36
p0 ~12.74 + 16.47
p1 64.57 + 1.84

ol
) U HﬁHH
= 2000 }
=4000 :—
=g000 _—

91

4000

3000

2000

1000

=1000

= 2000

=3000

diff_bpmdeY

~40 =20

! ‘w +

iff _bpmdeY

20 40

%2/ ndf 35.47 /36

p0 2524 + 11.110

Pl -25.81+1.24

ﬁ

-40 =20

20 40

¥? / ndf 98.56 / 36
p0 -13.71+23.14 }h }
p1 263.1+ 2.6 " Hq _
of
-s{mn:— - ][
: JMW
10000 [~
:||||||||||||||||||||||
40 20 20 40

diff_bpmdey

¥? ! ndf 131.8/ 36
p0 -16.211+ 37.68
p1 4328+ 42
5000 -

of
_5000 &
10000 - - *Mlh#
15000 |- J
20000 -

-20)

20 40

:
:

E %2 / ndf 36.52 / 40
10000 - - z p0 -10.55 + 14.29

| +

- +HHV‘ p1 -71.4 £ 0.6
5000 — | wﬂ#

op

5000 |- *+|H+1L[H -

i f ’{
10000 :— +

1 1 1 | 1111 | 1 1 1 1 | 1 1 11 | 1 1 1 1 | 1 1 1

100 50 0 50 100

diff_bpm12X

¥2 / ndf 52.99 /40
p0 0.335 + 11.104
p1 6.876 + 0.427 i
2000 - | Mﬂ
of + *M A
I PMH f
2000 _— +
i [ | _I | L1 11 | L1 11 | L1 11 | L1 1 1 | L1 1
=100 ~50 (1] 50 100

diff_bpm12X

- %2/ ndf 53.49 /40
20000 |- +++
- 1 Py p0 -3.062 +9.272
_ £
10000 [ r_ﬂ -2001 0.4
ol
10000 :—
[ #*mﬂ
20000 :— Ch
i f-
NN B AN A B BB B A A B B B B A B B B A B B A
~100 50 0 50 100
diff_bpm12X
F - +2 | ndf 49.92 / 40
40000 |- h:
s0000 - ++++ p0 3.605 + 14.355
- ",
20000 * p1 -328.1+ 0.6
10000 f—
of
10000 f—
20000 f— .
— +*
30000 t,
- *L’r'_
40000 *
N 1 1 1 | 1111 | 1 1 1 1 | 1 1 11 | 1 1 1 1 | 1 1 1
~100 50 0 50 100



=

diff bpm1X  diff_bpmd4aY  diff_bpmdeX  diff_bpmdeY  diff_bpm12X

10000 |~ 12/ ndf 33.61/34 %2 | ndf 25.18 / 34 i %2 | ndf 23.51/35 %2/ ndf 35.55 /36 %2 [ ndf 36.88 / 40
: - 8000
8000~ | p0 -10.73 £ 14.14 p0 -6.183 + 14.147 B po -12.72 £ 14.11 po -9.953 + 14.100 po -11.69 + 14.05
- 6000 —
6000 - p1 —0.2876 + 0.8654 p1 1.042 + 1.504 1 * i p1 —0.3758 + 1.3437 p1 0.9232 + 1.5746 p1 0.1524 + 0.5416
- = - 2000 | =T
4000 [ ) i m i - 4000 } i k N - i
| I Po——" ol B T—— N —
reg_asym_atll Iy n 1 M " b [l | ! meh i & M )
[ } u‘ Tt sl ﬂ } i * o e bttty JﬂHﬁ - - 2000 } ~opoo - |1 *
~2000 :— 1l - -4000 B k - i } | - } -
i i - ~E0n0 } * ~4000 |- -4000 |
~4000 - ~B000 [ i I -
:|IIII|IIII|IIII|IIII :III|III|III|III|III|III| _WDD_IlIII|III|III|III|III|III| _IIIIII|III|III|III|III ‘III|IIII|IIII|IIII|IIII|III
=100 =0 0 a0 100 B0 -40 =20 0 20 40 B0 B0 -40 =20 0 20 40 B0 -40 =20 0 20 40 =100 =0 0 a0 100
diff bpmlX  diff bpmdaY = diff bpmdeX diff bpmdeY  diff bpmI2X
%2 | ndf 30.1/ 34 ¥= [ ndf 28.77 /34 ¥2 | ndf 38.06 /35 %2/ ndf 28.5/ 36 %2/ ndt 53.55 / 40
pO 1.86 £ 11.02 p0 2.71+11.04 po 1.049 = 10.994 p0 3.882 + 10.991 p0 0.4393 £ 10.9606 +
p1 0.2159 + 0.6751 ) p1 1.524 +1.174 ) p1 0.04889 + 1.05263 - p1 1.118 +1.223 p1 0.05549 + 0.42173

cwsmant et Y Ty Ty

i

ol _ 5 H ! +Wﬁ***"“‘"'?‘#ﬁ'i#“ »H
~2000 | i I I - | H+ #l}]l }
i ~2000 - ~2000 ;— { _ 3000 _ I {
~4000 |- i ¥ _a000 F- - Sl }
:lll_lllllllllllllllll _III|III|III|III|III|III| EI|III|III|III|III|III|III| _S.DDD_—IIIIIIlIIIIIIIlIIIIIII —III|IIII|IIII|IIII|IIII|III
100 50 0 50 100 60 40 20 0 20 40 B0 60 40 20 0 20 40 B0 —40) 20 0 20 40 100 50 0 50 100
QlfL diff _ diff _ diff _ Y diff _
liff bpml1X _bpmdaY ff bpmdeX _bpmde _bpml2X
72 ndf 2414 / 34 ¥ ndf 2525/ 34 - + 1=/ ndf 278/ 35 %2 / ndf 33.55/36 ¥/ ndf 49.61 /40
2000 :— ap00 -
E p0 —0.9759 + 7.9497 p0  —0.06182 + 7.99162 - p0 —1.498 + 7.932 p0 0.2962 + 7.9622 pl  —0.08319 + 7.90704
1500 i
- p1 -0.5655 + 0.4883 pi 0.4129 + 0.8531 1000 - pi -0.7233 £ 0.7575 pi 0.257 = 0.891 } p1 0.1396 + 0.3051 _}
1000 i -
}\ | i W ] W | 1 w
. 1 | - B - } ' _ o T ﬂﬁi«%ﬁﬁ Jﬂ[ oE - Hﬁ%@-‘ﬂ
reg_asym_atl2 of | [ : }} Yl ;} et} Ak iy B i
— — B [ H o __ | * + 1 H : l = = 1000 [
~500 [ - f i * } 1000 [~ i -
- ) I ] -1oen } [ ) -2000 |- {
1000 |- - ~1000 - - ~2000 |- :
n - - - ' ~3000
-1500 |- _ - _ ~2000 | B )
A T T T T [N T T T T N T T T A A T B [ e vy v b b by | VI N T N T T T T B O _mun_ll|||||||||||||||||||| Lo by by b bvv v by
100 50 D 50 100 60 40 -20 0 20 40 B0 60 40  -20 0 20 40 B0 —40) 20 0 20 40 100 50 D 50 100
dlthmeX diff bpm4aY  diff _bpmdeX diff bpmdeY diff bpml2X
72 ndf 31.69/ 34 %2 / ndf 39.74 / 34 I 7= | ndf 43.82 /35 %2 | ndf 45.82 /36 ¥ | ndf 37 /40
3000 :— 4000 B
- po 2.382 £ 11.080 p0 3237 £ 11.124 i po 1.221+=11.048 p0 3.501 £ 11.080 p0 4 889 = 11.023
2000 } 5
- p1 -0.2376 £ 0.6827 p1 1.155 £ 1.185 - p1 -0.7923 £ 1.0578 p1 1.372 £1.238 } p1 0.2089 = 0.4255
1000 ' T 2000 i | } '
g 1 ! p i 1000 |- - - - I {I}H'H ol |4 h}%ﬁﬁ%{ﬁ}m 1 | ﬁ_
reg_asym_atr2 o | H (et i | | |
— — :_ _ —_ + 4 |- - : :
~2000 °F ﬁpﬂ%ﬁ”ﬁﬁﬂ}w ' i ~1000 | ~4000 |-
- -7 2000 [ - i
-3000 ~1000 - i
N i - I i ~6000
~4000 - 5 i -2000 |- -
5 ~2000 [ 4000 - =

run5800 000 resression res at vs diff bpm-fit postpan.png = =~ e



asym_atll

asym_atrl

asym_atl2

asym_atr2

runs3800 000 r

15000

10000

5000

=5000

10000

~
=
=

-80 -60 -40 20 0 20

10000 —

5000 .

=5000 —

10000 — R

40 60 BOD 100
diff_bpmXum

=100 -80 -60 -40 -20 0O 20

20000 —

10000 —

10000 —

20000 —

40 60 BOD 100
difi _bpm1Xum

prr v e bt bl
WDDP1QD 80 -60 40 20 O 20

40 &0 BOD 100
diff_bpm1Xum

| diff_
- - -
4p000 E- 40000 |-
30000 - anooo |-
10000 10000 &
0 ;— o ;_
10000 - 10000 &
20000 |- 20000 -
30000 - 30000 |-

40000 [- 40000 |-
I e g

eoressl

15000

10000

5000

~5000

10000

15000

20000

2
5
5
.
3
5
2

diff_bpmda¥ium

10000 —

5000

5000 —

10000

diff_bpmda/um

20000 —

10000 —

10000

20000 —

.':'H}DDU AN S [ T N [N T NN T N T I A IO A A
difi_bomdaYium

n-asvm at vs diff

b

15000

10000

5000

~5000

10000

15000

20000

10000

5000

~5000

10000

20000

10000

10000

20000

30000

40000

30000

20000

10000

0

10000

20000

30000

40000

20000

m-sca

2

diff_bpmdeX/um

diff_bpmdaX/um

diff _bpmdeX/um

—E{?

t

tp

15000

10000

5000

= 5000

10000

15000

20000

diff_bom4eY/um

10000 —

5000

=5000 —

10000

diff_bpmday/um

20000 —

10000 —

10000

20000 —

Sﬂﬂﬂﬂ""'l"'l"'l"'l"
difi_bpmdaYium

40000

30000

20000

10000

1]

10000

20000

30000

40000

||||||||||||||||||||
0000 =20 20 40

an p n 2 diff_bpmda'/um

15000

10000

S000

~5000

10000

15000

20000

1
100 50 0 50 100
diff_bpm12X/um

10000 —

5000 —

5000 —

10000 —

=100 -50 1] 50 100
diff_bpm1 2X/um

20000 —

10000 —

10000 —

20000 —

I T I T T N T N I O OO O B A
30000 =100 ~50 1] 50 100

diff_bpm12X/um

40000
30000
20000

10000

10000
20000
30000

40000

0000 - 100 -o0 1] 50 100

diff_bpm12X/um



= I n n = n
15000 [ : 15000 [ 15000 [ 15000 [ 15000 [
10000 10000 [ 10000 10000 [ 10000 [
5000 |- 5000 |- 5000 |- 5000 |- 5000 |-
o- oF op of of
reg aS ’ m atll 5000 - 5000 5000 5000 5000 [
. L] [~ [~ [~ [~ [~
10000 | 10000 [ 10000 10000 10000 [
15000 | 15000 [ 15000 | 15000 [ 15000 [
_||||III|III|III|III|||||||||III|III|III _||||III|III|III|III|III _|III|III|III|I|||||||||| _||III|III|III|III|II _||||IIII|IIII||||||||II|III
-100 -B0 -0 —-40 -20 0 20 40 60 B0 100 60 —40 20 0 20 40 B0 60  -40  -20 o 20 40 &0 40 20 0 20 40 100 ~50 0 50 100
diff_bpm1X/um diff_bpmdaYium diff_bpmdaX/um diff_bpmdaYium diff_bpm12X/um
. . . [hf . .
I I I L
10000 | . U 10000 — . _ 10000 10000 |- L _ 10000
5000 — 5000 5000 5000 5000 —
t 1 o+ il o+ o o
eg_asym_a | | | | |
5000 ~5000 -5000 ~5000 ~5000
10000 |- BRI 10000 A 10000 Lottt e 10000 e 10000 |- :
-||||III|III|III|III||||||IIIIII|III|III -||||III|III|III|III|III -lll|||||||II|III|III|III -||III|III|III|III|II -||||IIII|IIII||||||||II|III
~100 -B0 -B0 —40 -20 0 20 40 60 80 100 60 —40 _20 0 20 40 B0 60  -40  -20 o 20 40 50 _40 _20 0 20 40 100 ~50 0 50 100
diff_bpm1X/um diff_bpmdaYium diff_bpmdaX/um diff_bpmdaYium diff_bpm12X/um
. . ff . ff .
| I L | —
Bo00 8000 BOD0 8000 BUOD [
000 B000 000 [ 000 000 [
4000 4000 4000 4000 4000
2000 2000 | 2000 2000 2000 | .
= 0 = =
reg asym atl ! 2000 :— = 2000 2000 :— = 2000 2000 :—
— — 4000 [ — 4000 4000 [ —4000 [ 4000 [
6000 | ~6000 | ~6000 | 5000 | ~6000
~BO0D [ ' ' —B000 ~B000 [ 8000 [ —BOO0 [
10000 : 10000 10000 - 10000 10000 :
oo b bvvr b bvrr b bvra beaa bva e I T T N O T N Y I B O A I I T T T T N A O I B R A B I T T T T I I A B B A A
~100 -B0 -0 —40 -20 0 20 40 60 80 100 60 _40 _20 0 20 40 &0 60  -40  -20 o 20 40 &0 100 ~50 0 50 100
diff_bpm1Xum diff_bpmdaYium diff_bpmdeXium diff_bpm 12X /um
. . ff . [bf .
B I B B B L
10000 i 10000 [~ 10000 10000 10000 SR
5000 — 5000 — 5000 5000 5000 —
t o+ o o+ o
eg_asym_a | | _ _
5000 ~5000 5000 5000 ~5000
10000 L 10000 |- L .' o 10000 |- B 10000 |- Sl 10000 |-
_||||III|III|III|II|||||||||III|III|III _|||||| _|||| ||| _||III|III|III|III|II _||||IIII|IIII||||||||II|III

&

20 40 60 80 100 -20) 1] 20 40 - 100 -o0 1] 50 100

run5800 000 resiéssion‘res at vs diff-bpm-scat postpan.png = -~



